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Question 1 continued
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Question 1 continued
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Question 1 continued

(Total for Question 1 is 11 marks)
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2. (a)
Immediately Immediately Immediately
Activity preceding Activity preceding Activity preceding
activities activities activities
A G M
B H
C I P
D J Q
E K
F L
(b)
D(5) J(LT) Key:
\ Early
' event
AQ) E@  fge N K(16) (NG time
\ Late
B(8) H(4) \ event
) P(5) K time
] /
II //
1(8) 9
C(6) i L(10) ) A
[I
!
E(7) M(6)
Diagram 1
6

P 6 6 7 9 4 A 0 6 1 2

R RIRIRRRRIRILILIRLILK,
SRRRRAHRHHRRRRKS RRKKE

5838

. vavsHINZLMioNod

9%
R
ose;
%%

S SIIAIIL IV STE
S Ll s

LU

ON
R \"\

prese
poss
&
fose
X
&

K

DO o
SeSeteteteteteres

s3os s
5 / / /}""‘\‘5{)\ \v)\: S

AN




3
i
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

(Total for Question 2 is 12 marks)
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Question 3 continued
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(Total for Question 3 is 9 marks)
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(a) length of the shortest path from A to G:
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Question 4 continued

(c) shortest path from A to G:
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Question 4 continued

(Total for Question 4 is 8 marks)

TOTAL FOR DECISION MATHEMATICS 1 1S 40 MARKS
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